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Mixture Word Problems

Dian mixed 11 oz of =0il containing 9 % clay with
12 oz aof sail wwith 15 % clay. What isthe clay content in the mixture’?

Feith durmped 7 lbhs of a bag of apples with 36 % red appleas,
inta a bag of 9 lhswhich contained 32 % red apples. What isthe new
percent of red apples?

AT L solgtion thatwwas 16 % vinedar was mixed with a 13 L
solution that wwas 79 % vinegar. Find the new concentration of winegar.

M elanie's trail mix was made cambining 3 lbs of peanuts that cost 2 &b,
14 lbs of raisins at 6 Efb, and 4 [bs of cashews at 5 Wb, vwWhat
was the cost per b of the mikture™

Benny mixed 4 L of cranberry juice into 12 L of apple juice, that had
44 % sugar. Ifthe cranapple mixture was 48 %
sugar, what wasthe percent of sugar in the cranberry juice?

How rmany o of gold should a coin of 24 % gold be ifwhen comhbined
weithh & 13 o pure gold necklace, it forms a metal that is 79 % gald?

Alyssa miked 12 mL of a salt solution with 9 mL of a 39 %
salt solution, to make a 96 % salt solution. Find the percent salt
concentration of the first solution.

Jessica mixed 10 rmL of a acidic solution with 3 L of a 47
% acidic solution, to make a 42 % acidic solution. Find the
percent acid concentration of the first solution.

Samneeds 5 |b of metal with 52 % sibver. If Sam comhbines
one metal with 12 % silver, and another with 74
%% siver, how much of each metal does Sam need’?

Tirm has two bags of nuts; one with B3 % peanuts, and the other
weith 25 % peanuts. To make a 11 b bag of 96 %
peanuts, how much of each should Tim use?
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